Test 3 (Cal 1) Fall 2012
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MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question,
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Find the area of the shaded region,
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Find the totalamofthereg:o betweenthecurveandthe x-axis,
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Find the derivative.
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Use the substitution formula to evaluate the integral.
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Find the point(s) at which the given function

equals its average value on the given interval,
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Find the volume of the solid generated
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Find the volume of the solid generated by revolving
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the region bounded by the given lines and curves about the x-axis,
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Find the volume of the solid generated by revolving the region about the given axis. Use the shell or washer method.
20) The triangle with vertices (0, 0), (0, 2), and (1, 2) about the line x = 1
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Find the length of the curve.
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Solve the problem.
22) Given the velocity and initial position of a body moving along a coordinate line at time t, find the 2)
body's position at time t. T
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23) Given the acceleration, initial velocity, and initial position of a body moving along a coordinate 23)
line at time ¢, find the body’s position at time t.
a =18 cos 3t, v(0) = 9, $(0)=-1
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24) The hemispherical bowl of radius 9 contains water to a depth 4./ Find the volume of water in the 24)
bowl,
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25) A swimming pool has the shape of a box with a base that measures
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m. How much work is required to pump the water out of the pool when it is full?
A) 760,000 | B) 14,896,000 ) @ 7,448,000 | D) 28,302,400 }

W = { Q’jmc 9ﬂ. (%)r;?/ (g_jj A
Y Yom (29. y/y 9
« e

= ?,Az/fd?ﬂ - T

\\

Extra (Optional):- What grade are you expecting on this course?
Any Feedback .....
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